ERGANRE-—%

(B, BRFE)

EZEREFE1EEI1SCBI2IED

RIZRF-BREEEE

EENEF1BFE 2R (CBIT2HME 0K

E-ARE MPEE k- nUNF-
“EREOREERELTHR) XEREE
WAL TICIERLEE RV EZEICE
REENRBIN TV ERRICHT=1THh

EENEF1EEIBERVELSITBITHER

& A B f WIE SAH BTG AH
ERREL TRISOE TR
GELLT. M) 2,050 1,710
az,*é{iffi 3,160 2,640
FIARER 1,160 970
Gosr 1870 1,560
ZFDMOHEE
(A=A, T 210 180
HEERZOMEEICHRTIRE RS1A—MLIZDOETE 24 20
(PS5 A . SNU=ESR)
T ERZT DM TIZER (TSR 12 10
BREICERITAERSS (G EAERERR. ZEEFAEICOE1E 2160 1800
Bige BEEDIREE. B E4rE xuh) ’ ,
-z P = 1 a7 — =
HMTFICERITDEESS SAEB1FEAA—NLIZDOETE 1.440 1,200
EREZTOMINICETILORVULAREE [1EICOE1E 3160 2640
i (RT-BOX, EBEEBOX., PHS=50% % %) ' '
BEZHE 1,870 1,560
Z=x%3 = =1 — =
{Ef,‘éeﬁgtgq RREBIFEAA—MLIZOETE 10,720 8,940
ZOMDBD (h-737—. ik—L, N = A | EREETEAA—MLIZDEIE
UF ORI, EEBHEE. REE, \REL 3,160 2,640
E=50%iF%)
SEHNO. O7A—FLEBDELD RE1A—MLIZOETE 96 80
gg;;;bﬂo. 07A—FLLLEO. 1 A—FILEED 140 120
g(%z;bﬂo. 1A—FJLELEO. 15A—FILEKXFED 180 150
gg;;;bto. 16A—FLLLEO. 2X—FILEKFED 210 180
g)*%;bio. 2A—FJLELEO. BA—FLEKFEDE 280 940
g%bto. 3A—FILLLEO. 4A—FLKEDT 390 330
g’%bio. 4A—FJLLLEO. 7A—FLKEDT 550 460
HEMO. 7A—FILUETA—FLEXBEDETD 970 810
HNENIA—RILLUEDED 1.950 1,630
SAEE1EAA—MLIZDOETE 3160 2,640

FEEREF1RESSITH/ITHHEH

HFHRRU
BTFE

EHMN1DLD

EEN20LD

FEHHAILLEDLD

R RE T Y123
(W5 E1E)

WIS 2B
(Gt @)

ZTDHDLD
(h TEEERLS, [ Kith T KHE)

FEREE1HFECSITHITHIER

4. BEZEIEL., —FRISHRITHE0 (5
I5)

AlZ0.005% 5L T1H1-%E

AlZ0.005% FELTH1-%8

AlZ0.008% 5L T1H1-%2E

AlZ0.008% FELTH1-%8

AlZ0.01Z&FELTH-58

AlIZ0.01%#F L THT-%E

5,360 4,470
3,210 2,680
3,160 2,640

SAEE1EAA—NLIZDETR

99 (1M A LLEDIFEIE. 90)

88(1/ A LLEDIFEIL, 80)

—~

65 REFEEME)

ZOfMDED SAEBE1FEAA—NLIZDOETA 1000 840
(MBS, 55, vayh-) '
SEIEE1B5ICBTF 50 BR(7—F |—BHICERTRE0 RTEBE1FEAA—MLIZOETR 1060 890
THdLD%E |
<o) ZOMDED (WAERER. # |[RREF1FEFA—MLICOEF1E 10.720 8940
- :E‘#}i:so‘%;‘ﬁﬁg,’ %E*fi i ' '
éiﬁ%fl)\ AEAZE=50%B R . HIFERE . BES1RITOE1HE 2530 2110
LEES %T_‘;ﬁfg%tmﬂ_ﬂ%wz 1RIZDZ1H 909 (17 A BLEDIBE (£, 90) | 88(1ANE B EDIBE L. 80)
ZDhnHLD 1KIZDZE1A 1,000 840
2@%@ %T_‘;gfg%':%lﬂ_ﬂ%wz TOERIFAA—MVIEOZTE oo (1 p b aait. 00 8801/ A HEDBAL. 80)
PIEAKH ZOMOLD EHE=RE) |[fOEE1FEAA—FLIZDETR
ThHdELD%E 1,000 840
7—F HEEENRT L0 1E[ZD=1R 10,720 8.940
ZOHDED 5,360 4,470
SETEFEABICHBFAIEAERRVREESEICIBIFIIERAME HHAEE1EAA—RLIZDOETR 1060 890
(45 : 215, REWE) |
FETEECSITBITARERENRURFETSITBITOEX 400 340




